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. General Instructions : 

(i) All questions are compulsory. 

(ii) The question paper consists of 34 questions divided into four 
sections- A, B, C and D. 

(iii) Section A contains 10 questions of 1 mark each, which are 
multiple choice type questions, Section B contains 8 questions of 
2 marks each, Section C contains 10 questions of 3 marks each 
and Section D contains 6 questions of 4 marks each. 

(iv) There is no overall choice in the paper. However, internal choice is 
provided in one question of 2 marks, three questions of 3 marks 
and two questions of 4 marks. 

(v) Use of calculators is not permitted. 

'R/41'4 ~ : 

(i) "fr4t >rR 3!Rcwf ~ I 

(ii) ~>TR-W# 34 >rR ~·~'CIT(~- ~ ~ fl 3fk G: #~~I 

(iii) (9Tl5 ar # l(G? -l(G? 3fcn crrit 1 o >rR ~ ~ Cf!g-f¥tw47 >rR ~ 1 (9Tl5 6f # 
8 >rR ~ fir;:rif -# J[fitcn 2 3fcn cnr ~ 1 (9Tl5 fl # 1 o >rR rft;r- rfR 3fcif it 
~· I (9Tl5 G: # 6 >rR ~ fir;:rif if ~ 4 3fcn cnT ~ I 

(iv) !JifT >TR-W # cit{ ~ ~ ~ I ~ 2 3fcn crrif f!!1i >rR ~ 3 3fcn crrif 
rfR JTRi # n21T 4 3fcn crrit eft JTRi # 31H1RCh ~ Rr!: T{({ ~· I 

( v) c7J C1j ciJ2 < cnT m crf§rrr ~ I 

SECTION A 
~3l 

Question numbers 1 to 10 carry 1 mark each. For each of the question 
numbers 1 to 10, four alternative choices have been provided, of which 
only one is correct. Select the correct choice. 

>rR if&rr 1 -# 1 o rrcti ~ >rR 1 3fcn cnr ~ 1 >rR if&rr 1 -# 1 o # ~ >rR it 
~ 'CIT( ~ Rr!: T{({ ~ fir;:rif -# m f!!1i "fT{r ~ I "fT{r ~ 'fJfrr!: I 

1. The roots of the equation x2 
- 3x - m (m + 3) = 0, where m is a 

constant, are 

(A) m, m + 3 

(B) - m, m + 3 

(C) m, - (m + 3) 

(D) - m, - (m + 3) 

30/1 2 
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fll""llCJ'l{OJ x2 ~ 3x- m (m + 3) = 0, ~ m ~ ~ ~' ~ ~ ~ 

(A) m, m + 3 

(B) - m, m + 3 

(C) m, - (m + 3) 

(D) - m, - (m + 3) 

2. If the common difference of an A.P. is 3, then a 20 - a 15 1s 
' 

(A) 5 

(B) 3 

(C) 15 

(D) 20 

(A) 5 

(B) 3 

(C) 15 

. (D) 20 

3. In Figure 1, 0 is the centre of a circle, PQ is a chord and PT is the 
tangent at P. If L POQ = 70°, then L TPQ is equal to 

Figure 1 

(A) 55° 

(B) 70° 

(C) 45° 

(D) 35° 

30/1 3 P.T.O. 
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~ 1 if, 0 ¥ CflT ~ W I PQ ~ ~ W ~m PT ~ P LR ~ BID W I 
~ L POQ = 70° W, eft L TPQ ~ W 

~1 

(A) 55° 

(B) 70° 

(C) 45° 

(D) 35° 

4. In Figure 2, AB and AC are tangents to the circle with centre 0 such 
that L BAC = 40°. Then L BOC is equal to 

A 

Figure 2 

(A) 40° 

(B) 50° 

(C) 140° 

(D) 150° 

30/1 4 
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~ 2 if, AB (f2Tf AC, ~ Tf ~ ~ 0 ~' Ch1 ~ ~ ~ (f2Tf 

L BAC = 40" t ffi L BOC ~ ~ 

A 

(A) 40° 

(B) 50° 

(C) 140° 

(D) 150° 

5. The perimeter (in em) of a square circumscribing a circle of radius a em, 
IS 

(A) 8 a 

(B) 4 a 

(C) 2 a 

(D) 16 a 

(A) 8 a 

(B) 4 a 

(C) 2 a 

(D) 16 a 
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6. The radius (in em) of the largest right circular cone that can be cut out 
from a cube of edge 4·2 em is 

(A) 4·2 

(B) 2·1 

(C) 8·4 

(D) 1·05 

4·2 wn- ~ o:rB ~ tR if ~ ~ m o:rB ~ if ~ (1t4~-ctll1 ~ cn1 ~ 
cwn if) ~ 

(A) 4·2 

(B) 2·1 

(C) 8·4 

(D) 1·05 

7. A tower stands vertically on the ground. From a point on the ground 
which is 25 m away from the foot of the tower, the angle of elevation of 
the top ofthe tower is found to be 45°. Then the height (in meters) of the 
tower is , 

(A) 25-/2 

(B) 25.J3 

(C) 25 

(D) 12·5 

mill lR ~ lfRR "31~m ~ ~ 1 mill~~~ if, it 1fRR ~ w.: ~if 
25m. ~ ~~ lfr.:!R ~ W:sR cnr ~ cnTu-r 45° ~~ w lfRR cn1 ~ clfR\ if) ~ 

(A) 25-/2 

(B) 25.J3 

(C) 25 

(D) 12·5 

30/1 6 
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8. If P( ~ , 4) is the mid-point of the line-segment joining the points 

A(- 6, 5) and B(- 2, 3), then the value of a is 

(A) - 8 

(B) 3 

(C) - 4 

(D) 4 

71fc:: ~ P( ~ , 4), ~3# A(- 6, 5) ~211 B(- 2, 3) g;) fimR ~ {@~Us CfiT 

l1~-~ ~' m a CfiT l1H ~ 

(A) -8 

(B) 3 

(C) -4 

(D) 4 

9. If A and B are the points (- 6, 7) and (-1, - 5) resp~ctively, then the 

distance 2AB is equal to 

(A) 13 

(B) 26 

(C) 169 

(D) 238 

71fc:: ~ A~ B wm: (- 6, 7) 3ffi (-1, - 5) ~, m ctt 2AB ~ ~ 

(A) 13 

(B) 26 

(C) 169 

(D) 238 

30/1 7 P.T.O. 
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10. A card is drawn from a well-shuffled deck of 52 playing cards. The 
probability that the card will not be an ace is 

(A) 

(B) 

(C) 

(D) 

1 

13 

1 
4 

12 
13 

3 
4 

~ ~ >!CflR if W ~ 52 ifCIT Chl ~ Chl 'Tif it if ~ lfill ~ '11IT I ~ 
<N ~ ~ 1 m cn1 snfl!Cfl<il ·~ 

(A) 

(B) 

(C) 

(D) 

1 
13 

1 
4 

12 
13 

3 
4 

SECTION B 
~(sf 

Question numbers 11 to 18 carry 2 marks each. 

11. Find the value of m so that the quadratic equation mx (x - 7) + 49 = 0 
has two equal roots. 

3011 

fuerffi fp:{)Cfl{OI mx (x - 7) + 49 = 0 it m CfiT 1iR ~ ~ ~ fcfi ~BlCfl{OI 

~cJ~'i"ffQTI 
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12. Find how many two-digit numbers are divisible by 6. 

Wd ~ fcfi GT .~ Cl"Tffi fcfid;:fr ~ 6 if ~ ~ I 

13. In Figure 3, a circle touches all the four sides of a quadrilateral ABCD 
whose sides are AB = 6 em, BC = 9 em and CD = 8 em. Find the length 
of side AD. 

c 

B 

Figure 3 

~ 3 B, ~ "Tf ~ ABCD ctr. ri ·-:qffi 'Pff3TI cit ~ CRill ~ I ~ 
~ AB = 6 WIT, BC = 9 WIT (f~ CD = 8 WIT ~ I :piT AD cfr ~ Wd 

~I 

B 

~3 

c 

14. Draw a line segment AB of length 7 em. Using ruler and compasses, 

find a point P on AB such that AP = ~. 
AB 5 

1 WIT ~ CfiT ~ ~'t§li@Os AB ~ 1 ~ ~ ~ ~ m if, AB lf{ ~ 
AP 3 

~P'Wd~~-=-m 
AB 5 

30/1 9 P.T.O. 
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---------

15. Find the perimeter of the shaded region m Figure 4, if AECD is a 

square of side 14 em and APE and CPD are semicircles. [Use 7t = 2
7
2

] 

D.---------, C 

A'---------'E 

Figure 4 

~ 4 if,, ~w"lifCfl<i 'l1PT CfiT 1:ffD:rr:r m ~. ~ AECD 14 iP:ft :piT CfiT ~ 

CflT t ~~APE 31R CPD 31~ ~ [rc = 22 ~] 
7 

D.----___, C 

A'----------'B 

-~4 

16. Two cubes each of volume 27 cm3 are joined end to end to form a solid. 

30/1 

Find the surface area of the resulting cuboid. 

OR 

A cone of height 20 em and radius of base 5 em is made up of 
modelling clay. A child reshapes it in the form of a sphere. Find the 
diameter of the sphere. 

cJ ~. ~ "B ~- CfiT ~ 27 tR iP:ft t, it ~ ~ cfi't f~"kJICM -~ 
dm ~~t ~~>rfC{fer.fMCfiT~~m~ 1 

3l21CIT 

~ m crrffi mfr -B 20 W:TI ~ 31R 5 W:TI 3TI~ ~ cm1r ~ ~ ~ 
-.p:rr t I ~ ~ ~ ~ ~ it 31fCfiR if ~ ~ I ~ CfiT cx:rrB m ~ 

10 
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17. Find the value of y for which the distance between the points A(3, -1) 
and B(11, y) is 10 units. 

y CfiT ~ liR ~ ~, ~ ~ ~ A(3, -1) 3ffi B(ll, y) ~ irq ~ ~ 

10~ ~I 

18. A ticket is drawn at random from a bag containing tickets numbered 

from 1 to 40. Find the probability that the selected ticket has a 

number which is a multiple of 5. 

~ ~ if if, ~ ~ ~ ~ TR 1 if 40 Wfi ~ ~ ~' ~ RcR: 

llli:l1'iJllll ~ \ifTffi ~ I 511f4Cfl<il ~ ~ fcn ~ "11{ f2:cfZ TR ~ "ff&:rr 5 

qjy~m1 

SECTION C 

~~ 

Question numbers 19 to 28 carry 3 marks each. 

19. Find the roots of the following quadratic equation : 

x
2 

- 3J5 x + 10 = 0 

x
2 

- 3 J5 x + 10 = 0 

20. Find an A.P. whose fourth term is 9 and the sum of its sixth term and 

thirteenth term is 40. 

30/1 

~ w:ITffi: M ~ ~ ~ ~· tTG: 9 ~ ~m ~ ~ ~m itWf <Rt CfiT 

lfllllhC?I 40 ~ I 
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evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



17. Find the value of y for which the distance between the points A(3, -1) 
and B(11, y) is 10 units. 

y CfiT Cffl" l1R ~ ~' ~ ft;m: ~ A(3, -1) 3ffi B(11, y) .~ ~ cn1 ~ 

10~ ~I 

18. A ticket is drawn at random from a bag containing tickets numbered 

from 1 to 40. Find the probability that the selected ticket has a 

number which is a multiple of 5. 

~ ~ if -B. ~ iZcR ~ g;, 1R 1 -B 40 ~ ~ 3W!;a ~. ~ Reg 

lll~'i'0<11 ~ ~ ~ I Qlf.>:Jct('Jl ~ ~ 1% ~ 11{ R:""cR 1R ~· ~ 5 

CfiT~itl 

SECTION C 

~~ 

Question numbers 19 to 28 carry 3 marks each. 

19. Find the roots of the following quadratic equation : 

x2 
- 3-/5 x + 10 = 0 

x2 
- 3 -J5 x + 10 = 0 

20. Find an A.P. whose fourth term is 9 and the sum of its sixth term and 

thirteenth term is 40. 

30/1 

~ ~ ~ ~ ~ ~ ~2TI· 11?; 9 ~ W-lf ~~(ley~~ CfiT 

lfllilfi<'l 40 ~ I 
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21. In Figure 5, a triangle PQR is drawn to circumscribe a circle of radius 

6 em such th~t the segments QT and TR into which QR is divided by 

the point of contact T, are of lengths 12 em and 9 em respectively. If 

the area of L\ PQR = 189 cm2
, then find the lengths of sides PQ and 

PR. 

30/1 

p 

Figure 5 

~ 5 if, 6 WTI ~ CffB ~ Tf ~ 'Tf'trRf ~ ~ PQR ~ WtiR ~ ~ ~ fcfi 

{@'@O:S QT 3ih: TR, ~ m ~ T :fiT QR cit ~ CR"ffi" t cnl ~kll~lli 

~ 12 WTI o~ 9 itm % I ~ L\ PQR Cfil·~ 189 Cflf itm ~' eft :f!T3# PQ ~ 

PR cnl flkll~lli ~ ~ I 

p 

Q "-----:::::,.__j_.-::::::.... __ ___, R 
T 

31JCf((r 5 

12 
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22. Draw a pair of tangents to a circle of radius 3 em, which are inclined 
to each other at an angle of 60°. 

OR 

Draw a right triangle in which the sides (other than hypotenuse) are 
of lengths 4 em and 3 em. Then construct another triangle whose 

sides are ~ times the corresponding sides of the given triangle. 
5 

3 itlfT ~ ~ v:cn ¥ <n: ~ "(!) ~ ~ ~. ~ tmXf{ 60° ~ Ch1uT <n: ~ 
m 

3l?.lCfT 

1I:Cfi WJcilo I f:rlw ~ ~ ~ (cnuf ~ ~) 4 Wfr ~ 3 Wfr ~ <h1 
"' "' m 1 m v:cn 31r<1 f:r:pr c.tt ~ ~ ~ ~· ~ ~ f:r:pr c.tt WR1 :prran 

<tt~'Rl-"@1 
5 "' 

23. A chord of a circle of radius 14 em subtends an angle of 120° at the 
centre. Find the area of the corresponding minor segment of the circle. 

22 In [Use n = 7 and -v3 = 1·73] 

14 Wfr ~ ~ 1I:Cfi ¥ <h1 ~ ~ ~ <n: 120° <fiT ChluT 3:ffifuf W ~ I WRl 

~ c"{~"HsJO:s <fiT~~~ 1 [rc = 
2
7
2 ~ J3 = 1·73 ~] 

24. An open metal bucket is in the shape of a frustum of a cone of height 
21 em with radii of its lower and upper ends as 10 em and 20 em 
respectively. Find the cost of milk which can completely fill the bucket 

at Rs. 30 per litre. [Use rc = 2
7
2

] 

~ it ~ v:cn ~ ~ ~ ~ v:cn ~ ~ 3W:hR <tt t ~ ~ 21 itlfT ~ 
"' "' "' 

n2IT ~ ~ ~ ~ fuU <tt ~ ~ 10 itlfT n2IT 20 itlfT ~ 1 30 ~. '5lfu 

ffic:l: ~ ~ it ~ ~~ <fiT ~ ~ ~, ~ ~ c€r ~ ~ ~ I [n = 272 ~] 

25. Point P(x, 4) lies on the line segment joining the points A(- 5, 8) and 
B(4, - 10). Find the ratio in which point P divides the line segment AB. 
Also find the value of x. 

30/1 

~ P(x, 4), ~an AC- 5, 8) n2IT B(4, - 10) c€r ~ ~ ~@'lsWs <n: ~ ~ 1 
cw ~ ~ ~ ~ ~ p ~@:&o:s AB c€r ~ ~ 1 x <fiT l1R 'l:fr ~ 
~ 
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-
26. Find the area of the quadrilateral ABCD, whose vertices are A(- 3, -1), 

B(- 2,- 4), C(4, -1) and D(3, 4). 

OR 

Find the area of the triangle formed by joining the mid-points of the 
sides of the triangle whose vertices are A(2, 1), B(4, 3) and C(2, 5). 

~:flr ABCD cnr ~ Wf ~, ~ m A(- 3, -1), B(- 2, - 4), C(4, -1) 

~~ D(3, 4)% I 

3l~ 

~ ~ ~ m-~ A(2, 1), B(4, 3) ~~ C(2, 5) ~ I~ :prr3TI ~ ~~-~3TI 
c€t fim"R 1:R m qffi ~ cnT ~ Wf ~ I 

27. From the top of a vertical tower, the angles of depression of two cars, 

in the same straight line with the base of the tower, at an instant are 

found to be 45° and 60°. If the cars are 100 m apart and are on the 

same side of the tower, find the height of the tower. [Use J3 = 1·73] 

~ "31~~ $1R it ~ it, ~ CfiTU, ~ lfRR ~ 3i'T~ it ~ ~ U9r it ~' it 
~ irur, fcnBt w:r:r 45° oo 60° ~ -rm: , ~ cnro it ~ ctr ctr 1oo 1ft. 
~ ~~ CfQ $1R it ~ ~ 3ffi ~ ~, m 1ft-.:rR ctr ~ wr ~ 
[J3 = 1·73 ~] 

28. Two dice are rolled once. Find the probability of getting such numbers 
on the two dice, whose product is 12. 

30/1 

OR 

A box contains 80 discs which are numbered from 1 to 80. If one disc 
is drawn at random from the box, find the probability that it bears a 
perfect square number. 

~ cnm cir ~ ~ ~ 1FIT 1 cJ;:rr -qro1 ~ ~ ~:m ~ 31R ctr >nf.>:JCfl('fl ~ 
~' ~ :!UHCfiC1 12 Ql I 

~ w it 8o ~ ~, m cr: 1 it 8o ~ ~ ~ ~ 1 "l!fc:: ~ w if it 
~ ~ lJI<i'i£§lJI ~ ~ t m snfi!Cfl<il wr ~ 1% ~ ~ ~ -q:Cfl ~ 
crt~~w 1 
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SECTION D 
~G 

Question numbers 29 to 34 carry 4 marks each. 

JrN #&n" 29 it 34 ffCii ~ JrN it 4 afcn ~ I 

29. Prove that the tangent at any point of a circle is perpendicular to the 
radius through the point of contact. 

ftr.s: ~ ~ ¥ it fcnm ~ lR ~ ~~ ~ ~ it ~ qrffi ~ lR ~ 
"Qtfr ~ I 

30. The first and the last terms of an A.P. are 8 and 350 respectively. If its 
common difference is 9, how many terms are there and what is their 
sum? 

OR 

How many multiples of 4 lie between 10 and 250 ? Also find their 
sum. 

~ ~ ~ it >r~ am ~ «<:: ~ 8 am: 35o ~ 1 ~ ~ ~ atn: 
9 ~~ en ~ ~ «<:: ~ am ~ ~1 141<"1 <FIT ~ ? 

3l?;JCIT 

10 am 250 it ~ 4 it ~ ~ ~ ? ~ 4lll4lC1 '4T ~ ~ 

31. A train travels 180 km at a uniform speed. If the speed had been 

9 km/hour more, it would have taken 1 hour less for the same journey. 

Find the speed of the train. 

30/1 

OR 

1 1 3 
Find the roots of the equation + -- = 1, x ::f. - , 5. 

2x- 3 x- 5 2 

~ {C1 1 1141 l!!-f)fl li l'i ~ it 180 fc!;1:ft cnl ctt W1 cwlr ~ I ~ ~ ~ 9 fc!;lft;etzr 
a:rr~ m-m, en CfQ ~ ~ ~ 1 etzr Cfili "fflilf 'ffift , {C1lll'$1 cn1 'tiTC1" ~ ~ , 

31~ 

1 1 3 
-- + -- = 1, X ::f.-, 5, it liC1 ~ ~ 
2x- 3 x- 5 2 "' 

15 P.T.O. 
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32. In Figure 6, three circles each of radius 3·5 em are drawn in such a 
way that each of them touches the other two. Find the area enclosed 

between these three circles (shaded region). [Use n = 2
7
2

] 

Figure 6 

~ 6 #, 3·5 iP:IT ~ ~ cfR m ~ ~ m ~ ~ ~ fcfl ~ it ~ 
"T~" ~ ~ ~ -cnT m Cfl«<T ~ .I ~ W-;:fT ern % ~ tm (01~ifCfld) ~ CflT ~ 

~ ~ I [n = 272 ~ J 

~6 

33. Water is flowing at the rate of 15 km/hour through a pipe of diameter 
14 em into a cuboidal pond which is 50 m long and 44 m wide. In what 
time will the level of water in the pond rise by 21 em ? 

14 iP:IT c;qm Ch1 'Q,Cfi ~ it 15 fcnl:IT;efc:T Ch1 "iffi1 it ~ ® 1:fRT. 'Q,Cfi ~ (1](1 

#, ~ ~ 5o -m. (f~ ~ 44 -m. t 311 wr ~ 1 ~ ~ # (1](1 # 1:fRT 
CflT '*.1 «"H 21 iP:IT ~ ~ ? 

34. The angle of elevation of the top of a vertical tower from a point on the 
ground is 60°. From another point 10 m vertically above the first, its 
angle of elevation is 30°. Find the height of the tower. 

~ % fcflm ~ it, ~ "31~m ~ % ftnsR CflT ~ itur 60° ~ 1 ~ ~ 
~it, ~~~it 10-m. "31~m ~ <R t "J:fRR% ~ CflT ~ CfiTur 
30° ~ I 1fRR Chl ~ ~ ~ I 
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